Date: . Week 12: Day 1

\/2 True or False? A square can be \(3 Circle the obtuse )

‘Name:
(l Complete the following:
2
a.0.52x10 =
2
b.7.8x 10 =

%

classified as a rectangle. angle.

)\k‘

V.
<

('—l What is the value of the\ﬁs Multiply. \(6 What is the value of the expression?
expression? 685 s Fhis
: decimal
32 +56 +8 X 27 model.
0.54 x 2
Y AN A\ =
7 j What is the meaning of the following idiom?\/8 Write two words that use the root below. \
R TE . 55
“Frog in yeour Throgr” . &
N /j [% SPECT ] {g look, see ]
(’\)5 SPEC &
Trace. Copy. \ Word 1: 3
SN R LIS % BP0 3 P W "i' . e e e /word 2- o B —7)
Name: Date: Week 12: Day 2
/| Complete the following: \(2 An expression is shown. Add a set of \/3 Draw a polygon \
parentheses so that the value of the with 2 fewer sides
a.12.3 =« 102 = expression is 126. than an octagon.
i 12 +9Xx6
b.5.06 + 10 =
e A 25 /
/l—| True or False? A \(5 Multiply. \/6 What is the value of the expression? )
rectangle can be classified Use the
as a square. D74 decimal
X b2 model.
0.42 x 4
iy AN /
What is the meaning of the following idiom? \(8 Write two words that use the root below. N
“I’'m all ears? B <
s THERM = heat, warm
/ ;
~ Copy. i N Word 1: cd
o NWord 2: ~ /\




Date:

Week 12: Day 3

Y2 Explain why a square can be
classified as a rectangle.

Name:
/| Complete the following:
3
a.1.83x10 =
3
b.5.7 +10 =

\

~

AN

(3 Circle the acute )

angle.

expression?

(88 - 56) - 8

\ I\

/I.| What is the value of the\Ks Multiply.

\/6 What is the value of the expression?

J
\

1,402 Use the
x 18 |k
0.37 x4
A

<

a. I'm so hungry | could eat

/7 A hyperbole is an exaggeration. Complete each hyperbole. )

/8 Write two words that use the root below. 5

c |

ING:

AN

ME

among, between]

b. My backpack weighs .
M y p g -

/¢ q Trace. Copy \ Word 1:
Y B - AWod2: - ________)
Name: Date: Week 12: Day 4
/| Complete the following: \/2 An expression is shown. Add a set of \/3 Draw a polygon )

parentheses so that the value of the with 2 fewer sides
a 193.2 = 102 _ expression is 133, than a decagon.
. 142 - 36 + 4
b.6.2x 10 =
h N AN %
/'-| Draw two different \(5 Multiply. \/6 What is the value of the expression? h
shapes that are classified as Use the
rectangles. 2,036 deeinl
X 26 model.
0.58 x 3
\ A A )
/7 A hyperbole is an exaggeration. Complete each hyperbole. \/8 Write two words that use the root below. N\
(&5
a. It took me - to finish my homework. | |- Z
’ S TRACT ] = pull, drag j
& :

b. I am so tired | could sleep for

o

G
A A et 14 )
{ LV A L
rR UV,

A LA

Copy. \ Word 1:

/Q\c’ord 2




